saednews.com

606A

Il

J s

t

> 606

‘f" JLH— J"O mmb ﬁ}'@%}“ 6&0}30 L9839 d’bjT

[ e 2 s ]

’ N 390 g0 el Sloe 5.5 polal sl HEl
M fay) Lghaed plel

ol ol gyt
£33 g cliiond qeale o yl3s

s igal it Al gl

‘ (Y90 w5) = (owitige i j50T I

EEPC R B PL y W R

M 5 jlauls g Slowd o Jlacial Slge 4 lgis

Baladr B | 5jlesd 3 | Jljoe Sled cial alge e,
L 4 ¥ ST L) | JEPIET S PP Y ¥
alindls 5 g il e ot ol o Jlasin] g 5lel) Wbl
& 1 ¥ v

R R e e e e e R R 2 R e e e e e A

it jhms b il 31 saldswl

gl Gﬂ.ms_,.u oaeyl il

R e R o e e e e o e e e R o e e R R

gl g By oy e ol b b il e gl o ool yates U WD gl g Ao ol el gt 3 ayge )T 5 315 a0 1 s (e (i RSO0 gy 0 0 T M g QST il



https://saednews.com

saednews.com

Y donds 606A AYAB) oF = rwdids b i96]

A'.-A-u.ll L‘}j.ﬁ)]’ L«Jﬁl JJ l-tu::-l )5-&05' fm.L: -;J}.Loih ‘L}"é de—‘-" L;JlJ"’n.L:\.n JI) L\MI 3 L.JLd.’:La:.n.a EJ‘J IBJ.: ‘Gﬂl}f L.:J.bs'ﬁ ﬂi’

Iy og  Joduo bylads o luss J.ul!smlﬂ hisssonsisibsrancnncd ort - L P e ) EY
o J)-H: a5 3 &5& gu'ms.w d:rr&dl 3 Mhtﬁmh Ls'}“.f d.u-h"r at 9519 \_UL'r ESYL* v CJJ-II ";J-Tﬁgh I'.‘I)LD-MJ L!
loigo a1 plaslizenly ol g Y15 der 185 g9, 1 o0

H o) peraiti 5 pas U

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each senfence.
Then mark the correct choice on your answer sheet.,

1-  The police only believed me after an eyewitness ------—-- my account of the accident.
1} displayed 2 constituted 3) corroborated 4) suspected

2-  The plan is to our ---—---—--- advantage; we will all henefit greatly from it.
I’} concurrent 2y mutual 3) devoted 4) involved

3-  Our organization is committed to pursuing its aims through peacctol -—--—----- . We totally
reject violenee as a means of political change.
1) means 2) ingtrumenty 3y devices 4) gadgels

4-  All parents rececive a booklet which --—----—- the school’s aims and objcetives before their
children start their first term.
1} clarifics 2y injeels 3) conducls 4y notilics

3-  Inereasing the state pension is a ---------- aim, but [ don’t think the country can afford it.
1} redundant 2) diverse 3) tlexible 4) laudable

6-  The primary aim in sumo wrestling is to knock vour ---------- right out of the ring!
| } protagonist 2} opponent 3) referee 4} beneticiary

7- The cost of the damage cansed by the oil -—--—---- will be around $200 million.,
1} spill 2y guilt 3) demerit 4) extent

8- Most of us ---—--—--—- when we hear that many children spend more time watching TV
than they spend in school. 1t’s a rather scary thought.
1} withdraw 2) retreat 3) recoil 4) regress

9-  Even though he isn’t enrolled right now, Calvin says he will go to college ----—-——-,
1} creatively 23 delicately 3) sentimentally 4) eventually

10-  You should avoid driving during the snowstorm becaunse the icy roads arce -——--—--—--,
1} supcrlicial 2) Irigid 3) perilous 4) cautious

PART B: Cloze Test

ircctions: Read the fellowing passage and decide which choice (1), (2), (3), or (4) best fits cach
space. Then mark the correct choice on vour answer sheet

When it comes to visually identitving a work of ait, there is no single set of values or
aesthetic traits. A Baroque painting will not necessarily (11} --—----—-—-- much with a
conlemporary perfonnance picee, bul they are both considered art.
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(12} -———----—- th¢ sccmingly indelinable nature ol art, there have alwavs cxisled
certain formal guidelines for its aesthetic judgment and analysis. Formalism 18 a concept
in art theory (13) --—=—-------- an artwork’s artistic value is determined solely by its form, or
the way (14) ——----—-———. Formalism cvaluates works on a purely visual level, (15) ---——--

medium and compositional elements as opposed to any reference to realism, context, or
content.

1) share 2) be sharing 3) have shared 4) be shared

1) Although 2) Despite 3) Regardless 4) However

1) that 2)thatin it 3) which 4) in which

1) of it made 2) made 3) how 1t i1s made 4) it is made

1) arc considered  2) considers 3) considering 4) and consider

PART C: Reading Comprehension

Dircctions: Read the following three passages and answer the questions by choosing the
best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

[Juring the past few decades. professional ethics for engineers has what we have called
preventive ethics. Preventive ethics is commonly formulated in rules, and these rules
arc usually stated in codes of cthics. A look at engincering codes of cthics will show
nol only that they are primarily scts or rules but also that these rules arc [or the most
part negative in character. The rules are often in the torm of prohibitions, or statements
that probably should be understood primarily as prohibitions. For example, by one way
of counting, 80 percent of the code of the National Society of I'rofessional Engineers
(NSPE) consists of provisions that are, either explicitly or implicitly, negative and
prohibitive in character. Many of the provisions are cxplicitly negative in that they use
terms such as "not” or "only.”

Many provisions that are not stated in a negative form nevertheless have an
essentially negative force. The rule having to do with undisclosed conflicts of interest
is stated in the following way: "Engineers shall disclose all known or potential
conflicts of interest that could influence or appear to influence their judgment or the
quality of their services,”

This negative character of the codes is probably entirely appropriate, and it is easy
to think of several reasons for this negative orientation. First common sense and
common morality support the idea that the first duty of moral agents, including
protessionals, 18 not to harm others. Second, the codes are formulated in terms of rules
that can be cnloreed, and it 1s casier o enloree negative rulcs than positive rules. A
rule that stales "avoid undisclosed conllicts ol interest” is relatively easy 1o enlorce, al
least in comparison to a rule that states "hold paramount the weltare ot the public.”

Another reason for the negative orientation of engineering ethics 1s the influence of
what are often called "disaster cases." which are incidents that resulted, or could have
resulted, in loss of life or harm due to technology.
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The author of this passage --—-—--—-,

1) emphasizes the negative face of engineering ethics

2) formulates the codes of cthics as common rules

3} desceribes the various components ol engincering cthics

4} 1llusirales negative clhics as a new concepl in prolessional cthics

The engineering codes, according to the passage, --—---—-—-.

1) are entirely prohibitive in character

2} include provisions being greatly restrictive

3) reveal the explicit and implicit provisions

43 arc speeilied with the terms such as “not”™ or “only™

It’s referred in the passage that the foremost obligation of engineers is to -—-—----——- J
1) support morality 2) do someone no harm

3) upgrade their services 4) maintain their enforced position
The word “disclose” in paragraph 2 means --------—-.

1) cover 2) retorm 3) discover 4) maintain
The next following paragraph most likely is about -----—---,

1) absence ol moiivalional dimension 2) limitations ol prolessional ethics
3) enforcing the public welfare 4) examples of disaster cases

PASSAGE 2:

Convenlional engineering cducation programs deal with structured problems and data.
However, in a company working environment, information and data are often
subjective. and the management context is usually ambiguous and problems are often
ill stmctured, and the effects of qualitative social and human-related variables tend to
prevail. Engincering management curricula are not ollen designed 1o help students o
learn how 1o make cileclive decisions and dcal with problem-solving in high
ambiguous and uncertain contexts.

The traditienal approach in engineering teaching is bottom-up, i.e. from component
to system, and in many traditional engineering curricula the stage of dealing with a
complcte  system  is never reached, [Little focus on  svstemic  thinking  and
problem-selving is siill characlerizing many engincering management curricula. ‘The
ever-inereasing complexily and the size of manulaciuring and scrvice syslems require
a systems approach [or the design, implementation, opcraiion, mainicnance and
retirement of soclo-technical systems that tend to be complex. Complexity and
uncertainty are the everyday reality for the analysts and problem selvers concerned
with complex socio-technolegical systems with the aim 1o enhance students skills in
svslemic thinking, usclul 1o build a consistent model that rames complex policy
problems in the lorm ol & system diagram. The scholars suggest also 1o adopl the
so-called issue paper as a main vehicle to support interaction between the analyst and
the problem owner or commissioner. The 1ssue paper concentrates on problem framing
and preparing it takes the analyst through the whole problem cycle.

Most technology management or engincecring and technology management programs
appear (0 have an insullicicnt coverage ol the social, cultural. legal. and political aspeels
of engineering and technology management. Nevertheless, non-technical skills are
increasingly demanded to engineers to be able to affirm their competence and their
social funetion.
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All of the following, based on information given in the passage, are truc aboui a
company working cnvironment EXCEPT -——-——--- ;

I it’s influenced by personal ideas

2) management context 13 relevant and meaninglul

3) its challenges arc not siruciured in a correct way

4) the impacts ol the qualitative soclal and hwmnan-related variables are dominated

[t’s stated in the passage that issue paper --—--——---,

1) makes the analyst understand the problems i detail

2) locuses on adoptling a complex policy problem

3) olfers a main vehiele lo prepare management frame

4) conlincs imtcraction between the problem owner and analyst

It’s a big deal for firms to e 3

1) create a stable position in local markets

2) satisfy global demand by organizing the manufactures

3) try to restrict growth opportunities by globalization

4y conlirm their competitive position in high 1ecchnology markets

The word “affirm” in paragraph 3 can he substituted by —-——--,

1) acquire 2) challenge 3) increase 4) maintain

It’s stated in the passage that nowadays many cngincering management programs

—————

1) provide students 1o acquire skills in systemic thinking

2) lollow a combination ol relative basic analylical methods

3) concentrate hardly on problem solving and etfective assessment
4) focus on learning students to be effective decision maker

PASSAGE 3:

There is no more important mission for an engineering school than the preparation of
its undergraduates for their careers. [n today's rapidly evolving engineering landscape,
we have an increased obligation to transform the undergraduate educational experience
from the fraditional pedantic curriculum in explicit disciplines to a Dbroader
[oundational cxperience lor lile-long success.

Engineering, by its very nature, requires its practitioners to continue learning new
things long after their formal education ends. This has never been more true than
today, when we can see an accelerated pace of engineering innovation continuing for
decades. Enzineers need to evolve, and so do engineering schools.

Al the College ol Engincering, we're taking on that challenge by brouadening the
education of our students. While mastery of the technical aspects of engineering must
remain at the curriculum's core, we need to add new dimensions that will better
prepare students for the world of today and tomorrow.

We want to provide an undergraduate education that ensures our graduates can be
creators - the artistg, il vou will - of the scientilic and quantitative spheres, They need
to understand how technology works so they can be eflcetive as mnovaters, They also
need "soli skills, such as the abilily Lo communicale their technical ideas and
concepts, and galvanize a wide array of people, including those without technological
backerounds and people from other cultures. Combine these skills with the ability to
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be life-long learners, and our graduates have the potential to make real impacts that
can better our quality of life for generations to come.

The first thing we need to do 15 capture the imaginations of freshmen as soon as
they arrive on campus. The traditional first-vear courses are designed to build the
lundamental technical skills, and are ncecssary., They are alse dilficult and unless
students sce how this material relates to the extraordinary innovation potential of their
chosen major, we run the risk of turning them oft to engineering right away. Also, a
first year course explicitly dedicated to introducing students to areas in which
engineering advances society could help freshmen see the forest while they climb the
trees.

We offer an array of enrichment experiences that need to be expanded so more
students can tuke advantage ol them.

We also are rapidly expanding the opportunities our students have to work in
faculty research labs. This has emerged as another pepular endeavor for our students
and one where they are enjoying great success.

Nowadays we try extremely to ---—----- %

1) broaden the pace ol evolving engincering landscape

2) transfer old pedantic engineering to an explicit curriculum

3) increase obligation to train more engineering students

4) modify classical engineering to an experience for life-long success
Engineers, according to the passage, ------—--—-.

1) need Lo a broad cducation geing bevond the elassroom

2) require 1o praclice in the scope ol new disciplines

3) aim to explore new methods related to their careers

4) attempt to promote the innovations carried ont in engineering

To prepare engineering students better for the world of today or tomorrow, ---—--—--,
1) 1t requires 1o ercale new dimensions in cngingecring

2) the mastery ol engincering curriculum must be transiormed

3) the technical aspects of engineering must be notified more critically

4) we should take on the challenges by managing the education of students
The word “endeavor” in the last paragraph means ---------- ;

1) chance 2) effort 3} guess 4} section
The engineering first year courses -----—-—-,

1) alter the imagination of students of entering the school

2) compel them to dedicate themselves to their chasen majors

3) may turn off their incentives of being an engineer

4) help students climb the trees in the lorest
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int a=10;
int b= 24}
int ¢ =3
at+={(++b + e++);

sl {f FY PA (X Frosd
W ygeets Tl piols (o8 L Y

int f(int a, int h) {

return a + b;

et

TS oo ila |y gylodie an 5 05 anlad
int x=10;
printf{"%d", f(++x, x++));
Yy (Y Yo (A
08 Laduis Cualad s SRR YY ¢t
Ve @38 (AZ D Z0) 5 L e 50500 e i i 150 4D 08 o dow A5 Gl 1] 5 OF axkad o AT
s il (510 hlio adgl jpolio o dalad ol (303l (gl 0iS o0 lrailr 1) icio 99 Igitme e oy STWAD
ol o 30U 3518 oy yonis Loz ppolie (el (895 (oo ol 4 oS (00 S5 50 (3903T 3 M0 il 5 ki
g ores 38l A2l d panie waF bd 1 | b s 45 (50458 12 SR D jles Vg e
if {a<b)
swap(a 5 IJ);
if (n< c)
SWap (a . c);
else if (b<c)
swap(b , ¢);

(b<claf{a<bva<c) v {a<b<c)a(b=gas<c) o
a<e (f a<b<c
a8 il 0 510 patio CMSine 3 315 Dolgo ) Suplal  —8F
dalip (mals S o (F albp b bls* O
Sazee aslatol faile (F daliyr (gYL g lollas (Y
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f(x,n)=2%
i=1

double £(double x, int n, int i =1, double term =1) {
if {i>n)
rcturn ;

return /[ missing code "1

x*[{x,n,i+1,lcrm{i)
x+f(x,n,i+1term+x/i} (v
term + £ (x.n.i+lterm=x /i) ¢
term*f (x,n,i+1.term#x /i) ¢f
Yo gul ol g il YL il gllse Jloyg0 plos DY
aaby ygeyl 1yt colus (Y doliy glym! e 8, 90 (3
waliyy il i Wil sondinn i malia B
5L 4 Uil F ot 1y sl s oot 5T eyl e LASt gl ¢ )25 it oo b otiom, amncd S0 s b —BA
yomttie (ymt | 4y ] NULL | i 5l jlado woouitd 1o (sle o8 prmir 45 5500 0 ol KEy o b gloals

Yo guf 51,8 I*missing code™/ slear il ai 3§ slay
struct Node §

int data;
Node" next;
i
Node* ﬁnd_last(.\mdc“‘ list, int kcy) {
if (Mist)
return NULL;
Node” p = find_last((list— > next), key);

return /* missing code */;

list— > data == key 7 list: p ¢

p—=data == key ? p: NULIL ¢

p 7 p : list—>data == key ? list: NULL (v

list—>data == key ? list:p—>data == key? p: NULL
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int binary search{int arr[], int 1, int r, int x) {
while (/* missing #/) {
intm=1+(r-1)/2;
if (arr[m] = x)
return m;

if (arr[m] < x)

l=m+1;
clsc
r=m-=1;
¥
return -1;
}
| = AN I < r ¢}
(1 <r) | (arr[r] —— x) (f <= r (¥

Cagr wnlys 4 3F ol B() il Jlasld ams 50
void f(int i) §
try {
cout << "f1 ";
it (i %o 2) throw runtime_crror("crror");
couf << "f2 '";
} cateh (runtime error ex) {
cout =< "f3 '
throw runtime_error("[ insist!"});
cont << "f4 ";

i

cout << "f3 '
.
void g() {
try {
f(1);
cout << "gl M;
} catch (runtime_error ¢x) |
couf << "g2 ";

H

cout << "g3

—t

£1£3 gl g2 3 (¥ t1£3 82 g3 O
102151 g3 (f (10374 g2¢3
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void change{char a[]) {

puts(a);
}
int main() {

char x [10], *ptr = x3

scanf (" %s", x);

change(&x[4]):
i

ploS ze (F abed o elg (v abe (4
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#Ainclude <stdio.h>
int main()

f
inti=10;
void *p = &i;
printf{""Ydin", (int)*p);
return 0;

;
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#include <stdio.h>
int main(} {
inta=1,h=1;
switch (a) |
cas¢ a*b:
printl{"yes '');
case a-h:
printf("'noin'");
breal;

Blaals” gllas (F yes no (v ves (v no
fagam oo Lyl jb Wl 4l ol Gup —FF
for(j = 1 j <= 10; j = j—1) /* lvop body */
Clgs g (F Yo (¥ V(Y e (3
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void print_arrav1{int arr|size|) §
for (int i=0; i < size; i)
printf(" %d ", arr|i]);
i
void print_array2(int arr||) {
for (inti=0;1 <gizcof arr; i++)
printf("%d ", arr|i]);
}
void print_array3(int arr||, int size) {
for (int i = 05 i < size; 1)
printf(*' %d V', arr|i]);
}
void print_array4(int arr[]) {
for (int i = 05 i < sizeof arr / sizeof(int); i++)
printf("Yd ", arr]i]);

print _array4 cf print _array3 v print _array2 ¢ print _arrayl
Sl oyl 3 lyles 1S plas —FA
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for (inti = 0;i < §i++) {
for (int I=0hj<4 j++)
if (i > 1)
breal;
printf ("Hi ");
1
]
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#include <stdio.h>
int main()
{
{
L
intx=28§;
H
printf("%d", x);
return {);
}
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